
ËÐÜ¿á ÓÜíPæàñÜ : 83K
 2024 – 25 ®æà ÓÝÈ®Ü GÓ….GÓ….GÇ….Ô. ÓÜíPÜÆ®ÝñÜ¾PÜ ÊÜåèÆÂÊÜÞ±Ü®Ü & 1

ËhÝn®Ü

ÓÜÊÜá¿á : æ̧ÙÜWæY 10.00 Äí¨Ü ÊÜá«ÝÂÖÜ° 1.15 ÃÜÊÜÃæWæ] [WÜÄÐÜu AíPÜWÜÙÜá : 80

ÓÜãaÜ®æWÜÙÜá 1) D ±ÜÅÍæ°±Ü£ÅPæ¿áÈÉ »ÝWÜ & A : »èñÜ ËhÝn®Ü, »ÝWÜ & B : ÃÜÓÝ¿á®Ü ËhÝn®Ü,  
»ÝWÜ & C : iàÊÜ ËhÝn®Ü GíŸ ÊÜáãÃÜá »ÝWÜWÜÚÊæ. 

 2) D ±ÜÅÍæ° ±Ü£ÅPæ¿áá  Joár 38 ±ÜÅÍæ°WÜÙÜ®Üá° Öæãí©¨æ.
 3) ±ÜÅÍæ°WÜÚWæ PæãqrÃÜáÊÜ ÓÜãaÜ®æWÜÙÜ®Üá° ±ÝÈÔ.
 4) 

 5) ±ÜÅÍæ° ±Ü£ÅPæ¿á®Üá° K©PæãÙÜÛÆá 15
¯WÜ©±ÜwÓÜÇÝ¨Ü ÓÜÊÜá¿áÊÜ®Üá° ±ÜÅÍæ° ±Ü£ÅPæ¿á ÊæáàÇÝ½WÜ¨ÜÈÉ ¯àvÜÇÝX¨æ.

»ÝWÜ – A

(»èñÜ ËhÝn®Ü)
 I.

3×1=3

 1) Ë¨ÜáÂñ… Ë»ÜÊÝíñÜÃÜ̈ Ü SI HPÜÊÜÞ®Ü 

 A) Bí²àÃ… B) C) KÊÜå… D)

 2)

 A) B) Ë¨ÜáÂñ… ±ÜÅÊÝÖÜ C) aÜÆ®æ D) Ë»ÜÊÝíñÜÃÜ

 3) 13.5 

 A) 

9 

9 

9 
              B) 

6 6 6 

 C) 
9 

9 

9 

 D) 
6 

6 

6 

 II. 3×1=3

 4)

 5)

 6) 220 V 5 A 2 kW ÓÝÊÜá¥ÜÂìËÃÜáÊÜ 

 P.T.O.



 2 
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 III 2×2=4
 7)

 8)

 IV. 3×3=9

 9) 25 5  
5 V 

 i)

 ii)

 iii)

 A¥ÜÊÝ
  2 50 J

 10)

 a)

 b) 15 A 5 A

 11)

 V. 2×4=8
 12)

 A¥ÜÊÝ

 13) a) 20 C A, B C 

A B C

2.63 × 10–8 m 1.62 × 10–8 m 1012 m

  b) 

»ÝWÜ – B
(ÃÜÓÝ¿á®Ü ËhÝn®Ü)

 VI

3×1=3

 14)

 A) B)

 C) D)



 3 

83K

 15)

 A) B)

 C) D)

 16)

 A) B)

 C) D)

 VII. 3×1=3

 17)

 18)

 19)

 VIII 3×2=6

 20) PæÙ

 a) BaCl2 + H2SO4  BaSO4 + HCl b) Al + CuCl2  AlCl3 + Cu

 A¥ÜÊÝ

 21)

  

HCl ¨ÝÅÊÜ| ÓÜPÜRÃæ¿á ¨ÝÅÊÜ| 

1 2

 A¥ÜÊÝ
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83K

¸æù®…
¨ÝÅÊÜ|

X Y

Z

+ _

 a) X, Y Z 

 b) ‘X’ 

 22)

 a) ‘P’ ‘P’ 

‘Q’  ‘P’ ‘Q’ 

 b) ‘Q’ 

 IX 3×3=9

 23)

  (i)  (ii)
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 24) a)

 b)

 25)

 A¥ÜÊÝ
A, B, C D ̈ ÝÅÊÜ|WÜÙÜ pH A®Üá° PÜÅÊÜáÊÝX 12, 3, 6 7 

 X. 1×4=4

 26)

 i)

 ii)

»ÝWÜ – C
(iàÊÜ ËhÝn®Ü)

 XI
2×1=2

 27)

 A) B)

 C) D)

 28) ____________
 A) ÊÝí£¿ÞWÜáËPæ   B)

 C) D)

 XII 2×1=2

 29)

 30)

  ‘X’ 
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 XIII 3×2=6

 31)

 32)

 33)

 A¥ÜÊÝ

 XIV. 3×3=9

 34)

 35) (i) (ii)

 36)

 XV. 1×4=4

 37) a)

 b)

 A¥ÜÊÝ
 a)

 i)

 ii)

 iii)

  b)

 XVI. 1×5=5

 38)

 a)

 b)

 c)


